3. A positive real number is.1-more than its reciprocal. Find the number.

4. Two positive real numbers have a sumof 5 and product of 5. Find the
numbers.

5. A rectangular field with area a 5000 m? is ono_omoa by 300 m of mo:nim
_Find the dimensions of the field.
6.' A rectangular animal pen with area 1200 m?
. has one side along a barn. The other three
sides are enclosed by 100 m of fencing. Find

the dimensions of the pen.

B

/1. A walkway of uniform width has area 72 m?
and surrounds a swimming pool that is 8 m

m wide and 10-m long. Find the width of the
[} walkway.

8. A 5in. by 7 in. photograph is surrounded by a frame om .uniform 2&5
The area of the frame equals the area of the vroSmBms Find the width of
the @Aan

.w. When mineral deposits formed a coating 1 mm thick on the inside of a
pipe, the area through which fluid can flow was reduced by 20%. Find Eo
iginal inside diameter of the Evo
(Remember: Area of circle = 7r? and diameter = 2r.)

The area of the trapezoid wroin d&oﬁ is 90 square units. Find the value
cof x.
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A ‘Ex. 11

:.Hwﬁon& mE.mmoo ﬁom% Eo Hoogsmﬁﬁ wo:a msoéu aumam:a 90
’ <m.wﬁ\ of x. - —

12. In a golden »%B:mk, the —.mno..% the .Wsm% to the ﬁEE equals the Bmo of

the length plus width to the length. Find the value of this golden ratio. (Do
not %onﬁcwa the answer.)

A box with' chH (x + 5) cm has a square base with side x cm. A sec-
ond box with height (x + 2) cm has a square base with side Q + 1) cm.
If the two boxes have the same volume, find the value of x.

14. A box with a square base and no lid is to be made from a square piece of
metal by cutting squares from the corners and folding up the sides. .H.:o :
cut-off squares are 5 cm on a side. If the volume of the box is 100 cm?,
find the dimensions of the original piece of metal.

15. A hydrofoil made a round trip of 144 km in 4 h. Because of head winds,

the average speed on returning was 15 km/h less than Eo average speed
going out. Find the two speeds.
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Solve each.equation after rewriting it in the form ax® + bx + ¢ = 0. Give
answers involving radicals in simplest radical form.

7. 5r+ 8= —12r T 8. 2w +aw=-3 9,3*=1~y
10, 8x=1-22 L 2+ 1) =7 12. 5 =4r(2r +3)
13. Gn—5)2n—2) = 14. @1:@7:1# 15, % -—w=1
| m 416 _ 4= _,
;.miuw 17, 22216 _ oy 18. 252 =

Solve each equation and approximate solutions to the nearest hundredth. A
calculator may be helpful.

19. 2% — 4n = 8 20, 22 —3x=7 21. uml,alqu.o
22. 4x(x + 1) = 2.75 23, 3x(x +2) = —2.5 24, 2t —4) = -3

Solve each equation (a) by factoring and (b) by using the n__mnnwmn..
formula.

25. 52 —45=0 _ 26. 3y — 48 =0
27. 32 —6x+3=0 Nm.@:_@nano;
Solve each equation. Give answers involving radjcals in &E,Eomn radical
form.

B 29. 2-xV2-1=0 ©30. 2-xV5-1=0

.31 2-2V2+1=0 32, 2+ 2V3-3=0
33. V22 +5x +2V2=0 34. V32— 2x+2V3 =0
35. 2+iz+2=0 36. 22+2z—1=0
37.2-3B+2z+(1+3)=0 38, iZ2+Q2-3i)z—@3+i)=
39, pefnwxlf. A i g el s 8

=i w + 3i 224+i  2z2—i z+2
41. Show that the solutions of 3x% — 2x + 3 = 0 are reciprocals.

ﬂ. 42. Prove that if the 3,08 of ax® + bx + ¢ = 0 (a # 0) are reciprocals, then
a=c. .

Problems

Solve ow;nr problem. Approximate any answers involving radicals to the
nearest hundredth. A calculator may be helpful.

A 1. Each side of a square is 4 m long. When each side is increased by x m,
the area is doubled. Find the value of x.

2. A rectangle is 6 cm long and 5 cm wide. When each dimension is in-
creased by x cm, the area is tripled. Find the value of x.




